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1. BEEHIA
(1) £BIA 0 0 10,164 10,164 11,878 A 1,714
(2) BERA 6,569 27,049 0 33,618 34,998 A 1,380
@ &BEIARI—FEIRA 3,766 0 0 3,766 3,458 308
Q@ 2EEfELTXRKEEERA 2,090 0 0 2,090 2,022 68
@ BEEETDLSEEBNBEIA 490 0 0 490 462 28
@ EHE-1—XFETEEIA 223 0 0 223 330 A 107
® hRBERENRARGESIIETLZRA 0 5,000 0 5,000 5,700 A 700
® BRFTULA 0 14,679 0 14,679 14,456 223
@ RBRBZEIRA 0 7,370 0 7,370 8570 A 1,200
(83) HftEUXA 0 0 0 0 0 0
(4) #IRA 0 0 1,871 1,871 2,194 A 323
(5) th=itiRE5 0 0 0 0 0 0
BEFFHIAG(A) 6,569 27,049 12,035 45,653 49070 A 3417
2. BEIEEHIH
(1) BEEZH 6,729 22,071 0 28,800 30,593 A 1,793
@ 2BETIRI—BEZH 2,491 0 0 2,491 2,952 A 461
Q@ 2EHEfETRKEEEXS 2,663 0 0 2,663 2,022 641
® BTV EERNBEIS 1,140 0 0 1,140 1,229 A 89
@ SPE-L—RARTEEXH 435 0 0 435 330 105
® hREEEHENFERBEIAIETEIS 5,000 0 5,000 5,550 A 550
® WRSEEMEZS 0 9,701 0 9,701 9,940 A 239
@ REEEIH 0 7,370 0 7,370 8,570 A 1,200
(2) EBERH 0 0 16,053 16,053 16,775 A 722
@ AEXH 0 0 11,163 11,163 11,122 41
@ EHEBEXH 0 0 4516 4516 5,229 A 713
® #EHeIH 0 0 24 24 24 0
@ EAFE 0 0 350 350 400 A 50
(3) HBMAEE 80 420 300 800 1,000 A 200
(4) th=itiRE5 0 0 0 0 0 0
EEEEBZHE(B) 6,809 22,491 16,353 45,653 48368| A 2,715
BXFFHINZELE(A) —(B) A 240 4558 A 4318 0 702 A 702
I & EFHINZDOE
1. BEFEHIRA
BEFBIRAGT X) 0 0 0 0 0 0
2. |EFETXH
BEEFBZHE(Y) 0 0 0 0 0 0
BEFBINZERE(Z)=(X) —(Y) 0 0 0 0 0 0
I BAF5EBNINZ DED
1. BMEEBIRA
B FEIEEURAGT 0 0 0 0 0 0
2. BAFEIEEIXH
M EEE X e 0 0 0 0 0 0
MEEEIRZELE 0 0 0 0 0 0
V FEEXH(C) 586 8616 A 3,129 6,073 4,137 1,936
LEIRAEET (D) =(A) +(X) 6,569 27,049 12,035 45,653 49070 A 3417
LHXHEE(E)=(B)+(Y)+(C) 7,395 31,107 13,224 51,726 52,505 A 779
LHINZ ZE%E(F) = (D) — (E) A 826 A 4058 A 1,189 A 6073 A 3435 A 2638
AIEifR I E5E (G) 826 4,058 1,189 6,073 3,435 2,638
RERFEINZ ZBE(H) = (F) +(G) 0 0 0 0 0 0
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